/7 muzyz‘}»n

SHRIE A3|0] 4

16
(3 1 5
W & ORI GilAl
NEZHS | HajmiEre | JRPET
. - _——- -
16 %
13 5 1
I e 10
I 8 12
| R Has
15 ' [
R S '
% | 3
5 1
L_m ! 3 A7| OIDIKI= 7] 91| OFRHE S719/8t 2O AF| A4%| /K10t CIS 4 QSLICH
B FIIMEHES(QAMSM) EE 2 322 ECEIE =
o
7= z= SRQI] Zaay HeH| 2241220 | gnd | )
OI2(10%) | ZT2(10%) |  X3(80%)
AAE! IOJA(LG) = 2744 HA/EIAN ] 3,470,000 347,000 347,000 2,776,000
AAEOOIA(LG) : 4704 A/EM123 | ] 6,050,000 605,000 605,000 4,840,000
%%%%ﬁ&g%ﬂé‘ﬂ 3ﬂ § =4 1 5,040,000 504,000 504,000 4,032,000
pJrsl AN (M) Z4t 2 1,050,000 105,000 105,000 840,000
AXSE(GEE) - S35 e 3 1,150,000 115,000 115,000 920,000
QI M(SKOKZ!) : 37 Sy 4 600,000 60,000 60,000 480,000
P E8HE7|(T=A) 4 5 580,000 58,000 58,000 464,000
HE7|(A) - 1HA CAS 6 640,000 64,000 64,000 512,000
SE  3%s &20ld £ ozt 7 2,510,000 251,000 251,000 2,008,000
Z8EY + CIXtRl Ests FE(HA/SE) /SRR, 4,670,000 467,000 467,000 3,736,000
N ;- ZP TR MEHA| MEH JHs THE(HA) 8 790,000 79,000 79,000 632,000
HIEF ZA[2IEF(800X800) HAY/= /38l /oiat 9 1,010,000 101,000 101,000 808,000
Sy 2 N2H2EHI(1200%X2400) HAofEE - - 1,880,000 188,000 188,000 1,504,000
ORI SlELOf+EHH /7t + DG AE0| A1 23/32=24 === 7,470,000 747,000 747,000 5,976,000
AARIMBHEELY) ZAM3 10 400,000 40,000 40,000 320,000
il ZIAT(RH) 1 2,550,000 255,000 255,000 2,040,000
|-0|EIE01+H1LLH% XEﬁoi }\|AEH )\ﬁ r
DP7I: AEtolxt B 12 5420000 | 542,000 542,000 4,336,000
DPIIT : AR o 13 5380000 | 538000 538000 | 4304000
FUTYAES+FHLE) +F LMY By 1,480,000 148,000 148,000 1,184,000
FHIESH ZHIRS fa| 4EE+0|=9I01% S 14 4,410,000 441,000 441,000 3,528,000
H2flEr+OHls 2HE+QA WS Z9f A/ SR 15 6,080,000 608,000 608,000 4,864,000
()= HICI 2RI 27| S22 HEA ML 16 1,030,000 103,000 103,000 824,000
7 . E . - -
¢ SPA| 712 HIZ B2« ZAR 2H0/ / HEA| Maixr) / 2508 5
1) "EIA (Qlt) ERAZ (2210[STOh =TI KI5 A|AE Maty DME| JHEMEZ}

=812 EFRAE == HARZESA
SEICE 1005-401-798829 2853 2024.11.26 ~ 12,01 (622} / 10:00 ~ 17:00
+ FHEER(RYSY) U= 47| AR 23 23610016l HofE g & Jﬂ O 20| 2tZEI0{0F IS H0H ChEt 52{0] 25U OFF F2lot0] AL | HIZLICE
S HE S5 SR YS BIEA G 213 = 225 7&#2 = [H=FE 201
- 0JIAl: 101& 1001 ARt - 1101100122 / 1018 2013 A&t -1 01201%73'% o= |1y
+ Y710| A= oA OfLIst CHE2 QIEGHA| 200 OIIE 2ATHE ASAIER ES5A| A1V HIZILICE

- Nge ska 2 T3 AYL0 47191 siE =872 AXE LastAl | HIZtD, H57|Y 5 S 20| tol0] 2ol S22 S| aLICt
 FHEER(RISY) A0l Fl4 5 HE0| 20 2716121 US| 2SHAL | HIZILIC,



